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(ol-p couESEl
(.)mtclitldles urc reclttit'ed to give llteir oit.y:,;.,er,y in theiy ott,ntyords asJbr os pi'cictic:oble.

1-hc figrrres in the rnlri'gin indicate full rr,arks.

C,h'oupA (3x10::10).

-r\ltempt any'II{REE rl..rcstions:

I (a) lf /(,): 
"'-.!;'._.:l 

,;1"" find /(i), f (2), lQ,), f ( a) ancl f(0)

il-,) C;rltrrL;rt,': ljrrr "; 
I

2. (a) l'irrrl riro rlr,r'ir-at:i va <t{ y -- -Ij-r"-_a
(b) Estiinatr: the area betu,eerr i,ire parabola!'2: r and the litie u: j).

3. (a) \bri{j, r}re N.4eirn Vaiue Theorcrri ibr the function f (r):,t2 _:r for ir € i_2,21
(b) Defiire initiai r.alue pioblem. Solve the equation 4i -- y : 4r, y(2) : g.

a (u) Fincl the locel ttrrxinrriut encl minimunr .;a,lues arrcl sad6le points of
f (r,y) : 12 1- y2 - t:2y + 2.
(b) Where is the function ./(r;) : lrl differentiable? Discrrss.

Gr:oupB (10x5:50)

Attcmpt any TEN quesr;ions:

5. Verify fiolle's tireorem fbr l(a) : 12 *.1 for.r e l-2,21.

6. Firrd tite N4nciaurin serjes expansion of er at r:0.
7. If .f (x): ltr-r l encl q(r) : {i, finri ff'og)(r) anct (9ol)(r).

8. Shorv that the function f (r): |+ t2 is continuous everyq,[ere.

r- 1

9 Ev;:lrrrLo: I --i lLJ.' t/1 , 2t'z

10. Slretclr the curve y : 2t:2 + l.

1i. trirrd tire solution of y" - 6ti 7y : O.
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n:1 3n2+4
divet'gcs or ( ori'ci'tr': l5l



,.) D,'liu,: r-t,.rs; ulodut"l trl tu'r.r
l'

ir.i ? x &' end f' > ti)

i,i. l-irrd tlre second partiai dr:rivatives .f ,,,,..1]r11 a.^d ,f,tjy of .f (r.g) :,2t:3 i /i: .9'2 _ y

i5. Fiird tlre extlerne vajues o', J(r,y) : tl2 - *2.
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